
RD Sharma Solutions Class 10 Maths Chapter 3 Exercise 3.9: In Chapter 3 of RD Sharma's
Class 10 Maths, Exercise 3.9 focuses on solving pairs of linear equations in two variables using
the elimination method. The exercise presents various problems where students apply this
technique to find the values of the variables. The elimination method involves eliminating one
variable by combining the equations, allowing for the straightforward determination of the other
variable.

The exercise emphasizes understanding the relationship between the equations and practicing
different problem-solving strategies, reinforcing foundational concepts of linear algebra essential
for higher-level mathematics. This section helps students enhance their analytical skills and
confidence in solving equations.

RD Sharma Solutions Class 10 Maths Chapter 3 Exercise
3.9 Overview
Exercise 3.9 of Chapter 3 in RD Sharma's Class 10 Maths focuses on solving pairs of linear
equations in two variables using the elimination method. This exercise is crucial as it helps
students develop essential problem-solving skills, allowing them to systematically approach and
solve real-world problems modeled by linear equations. Understanding how to manipulate and
eliminate variables enhances analytical thinking and lays the groundwork for more advanced
mathematical concepts.

Mastery of this topic is important not only for academic success in mathematics but also for its
applications in fields such as engineering, economics, and data analysis, making it a vital part of
the curriculum.

RD Sharma Solutions Class 10 Maths Chapter 3 Exercise
3.9 Pair of Linear Equations in Two Variables
Below is the RD Sharma Solutions Class 10 Maths Chapter 3 Exercise 3.9 Pair of Linear
Equations in Two Variables -

1. A father is three times as old as his son. After twelve years, his age will be twice as
that of his son then. Find their present ages.

Solution:

Let’s assume the present ages of the father as x years and that of his son’s age as y years.

From the question, it’s given that,



Father is 3 times as old as his son. (Present)

So, the equation formed is

x = 3y

⇒ x – 3y = 0……. (i)

Also, again from the question, it’s given as,

After 12 years, the father’s age will be (x+12) years and the son’s age will be (y+12) years.

Furthermore, the relation between their ages after 12 years is given below

x + 12 = 2(y + 12)

⇒ x + 12 = 2y + 24

⇒ x – 2y – 12 = 0…… (ii)

Solving (i) and (ii), we get the solution

By using cross-multiplication, we have

x = 36, y = 12

Hence, the present age of the father is 36 years and the present age of the son is 12 years.

2. Ten years later, A will be twice as old as B and five years ago, A was three times as old
as B. What are the present ages of A and B.

Solution:

Let the present ages of A be x years and that of B be y years

From the question, it’s given that,

After 10 years, A’s age will be (x +10) years and B’s age will be (y + 10) years.



Furthermore, the relation between their ages after 10 years is given below

x + 10 = 2(y + 10)

⇒ x + 10 = 2y + 20

⇒ x – 2y -10 = 0…….. (i)

Also, again from the question, it’s given as,

Before 5 years, the age of A was (x – 5) years and the age of B was (y – 5) years.

So, the equation formed is

x – 5 = 3(y-5)

⇒ x – 5 = 3y – 15

⇒ x – 3y + 10 = 0…….. (ii)

Thus, by solving (i) and (ii), we get the required solution

Using cross-multiplication, we get,

⇒x = 50, y = 20

Hence, the present age of A is 50 years and the present age if B is 20 years.

3. A is elder to B by 2 years. A’s father F is twice as old as A and B is twice as old as his
sister S. If the age of the father and sister differ by 40 years, find the age of A.

Solution:

Assuming that the present age of A = x

the present age of B = y

the present age of F = z



the present age of S = t

It’s understood from the question that,

A is elder than b by 2 years.⇒ x = y + 2

F is twice as old as A.⇒ z = 2x

B is twice as old as S.⇒ y = 2t

Also, given that the ages of F and S differ by 40 years.⇒ z – t = 40.

So, the four equations are:

x = y + 2 … (i)

z = 2x … (ii)

y = 2t … (iii)

z – t = 40 …(iv)

It’s clearly seen from the equations obtained that x, y, z and t are unknowns.

And we have to find the value of x.

So, by using equation (iii) in (i),

(i) Becomes x = 2t + 2

From (iv), we have t = z – 40

Hence, we get

x = 2(z – 40) + 2

= 2z – 80 + 2

= 2z – 78

Using equation (ii), we have

x = 2×2x – 78

⇒ x = 4x − 78

⇒ 4x – x = 78



⇒ 3x = 78

⇒ x = 78/3

⇒ x = 26

Hence, the age of A is 26 years.

4. Six years hence a man’s age will be three times age of his son and three years ago, he
was nine times as old as his son. Find their present ages.

Solution:

Let’s assume the present ages of the father as x years and that of his son’s age as y years.

From the question, it’s given that,

After 6 years, the man’s age will be (x + 6) years and son’s age will be (y + 6) years.

So, the equation formed is

x + 6 = 3(y + 6)

x + 6 = 3y + 18

x – 3y – 12 = 0……. (i)

Also, again from the question, it’s given as,

Before 3 years, the age of the man was (x – 3) years and the age of son’s was (y – 3) years.

Furthermore, the relation between their 3 years ago is given below

x – 3 = 9(y – 3)

x – 3 = 9y – 27

x – 9y + 24 = 0……. (ii)

Thus, by solving (i) and (ii), we get the required solution

Using cross-multiplication, we get



⇒x = 30, y = 6

Hence, the present age of the man is 30 years and the present age of the son is 6 years.

5. Ten years ago, a father was twelve times as old as his son and ten years hence, he will
be twice as old as his son will be then. Find their present ages.

Solution:

Let’s assume the present age of the father as x years and that of his son’s age as y years.

From the question, it’s given that,

After 10 years, the father’s age will be (x+10) years and the son’s age will be (y + 10) years.

So, the equation formed is

x + 10 = 2(y + 10)

x – 10 = 2y + 20

x – 2y – 10 = 0……… (i)

Also, again from the question, it’s given as,

Before 10 years, the age of the father was (x – 10) years and the age of the son was (y – 10)
years.

Furthermore, the relationship between their ages 10 years ago is given below

x – 10 = 12(y – 10)

x – 10 = 12y – 120

x – 12y + 110 = 0……… (ii)

Thus, by solving (i) and (ii), we get the required solution



Using cross-multiplication, we have

⇒x = 34, y = 12

Hence, the present age of the father is 34 years and the present age of the son is 12 years.

6. The present age of the father is 3 years more than three times of the age of the son.
Three years hence, the father’s age will be 10 years more than twice the age of the son.
Determine their present age.

Solution:

Let’s assume the present age of the father as x years and that of his son’s age as y years.

From the question, it’s given that,

The present age of the father is three years more than three times the age of the son.

So, the equation formed is

x = 3y + 3

x – 3y -3 = 0 …….. (i)

Also, again from the question, it’s given as,

After 3 years, the father’s age will be (x + 3) years and the son’s age will be (y + 3) years.

Furthermore, the relation between their ages after 3 years is given below

x + 3 = 2(y + 3) + 10

x – 2y – 13 = 0 …….. (ii)

Thus, by solving (i) and (ii), we get the required solution



Using cross-multiplication, we have

⇒x = 33, y = 10

Hence,

The present age of the father = 33 years and the present age of his son = 10 years.

Benefits of Solving RD Sharma Solutions Class 10 Maths
Chapter 3 Exercise 3.9
Solving RD Sharma Solutions for Class 10 Maths, particularly Chapter 3 Exercise 3.9 on Pair of
Linear Equations in Two Variables, offers several benefits:

Conceptual Understanding: Engaging with the solutions helps students grasp the underlying
concepts of linear equations, including their graphical representation and methods of solving
(substitution, elimination, and cross-multiplication).

Step-by-Step Guidance: RD Sharma's solutions provide a systematic approach to solving
problems. This step-by-step methodology helps students learn the correct procedures and
develop problem-solving strategies.

Practice with Varied Problems: Exercise 3.9 includes a range of problems that challenge
students' understanding and application of linear equations. This variety enhances their ability to
tackle different types of questions in exams.

Improved Problem-Solving Skills: Regular practice of these problems builds students'
confidence and enhances their analytical skills, allowing them to approach mathematical
challenges more effectively.

Preparation for Exams: Solving these exercises helps students prepare for their board exams,
as it familiarizes them with the question formats and difficulty levels they might encounter.

Instant Feedback: By checking their work against the RD Sharma solutions, students can
identify mistakes and misconceptions, allowing for targeted revision and deeper understanding.



Enhanced Mathematical Communication: Working through solutions enables students to
articulate their thought processes clearly, which is beneficial for explaining concepts during
assessments or study groups.


